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(RIEX7) (L=250. Om-W=350. Om)
O ML 575E - i O MFICLE7E : Fib
(BERAS)
AiREEE FRIE CKARHSRELL) N= 10.000 &=
(bfiz R E)
BRI (1/500) A= 0.050 e
(CARAIE)
{RBMERE A= (Fih - Fith- O~ 10008 F i/ 1265 /H]) A= 0.250 km
kRl E (Fih- #iith -0~ 10008 Kih/12850) A= 0.250 km
TEBTRIE (T3t - Fiith- O~ 10005 K/ 1085 OBB#R - Bl S REFE50m) A= 0.350 km
(RHAIE)
ERETE 1.000 ¥7%
WihE 1.000 7%
NREQRE - iEENGE - T ELERE - ARFEEEGRIER A= 2700 ha




ERIE (145H1ER) A= 0.700 ha
RRTEED A= 2000 ha
TR R I SHEREER A= 2000 ha
RRAE A= 2000 ha
RRSERE A= 2000 ha
HigEtE A= 2000 ha
i #h 5230 R[5 (B2 46 R A= 2.000 ha
FA #th T 0 B0 AR R A= 2000 ha
(BREEREER)
NHAMIBRETERHE - TEEEEER L= 0.400 km
NERHIBRETERS - REEEERK L= 0.400 km
NHAMBREERE - R EER L= 0.400 km
FE&EhE
HoEhEmEGEIR + PR2E + BEMAR) 540 1.000 ¥7%




